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PV = nRT

N =4 moles (in mol)

P =pressure (in otm)
T = temperodure (in K)

NV = volume (in L)

R 1s4he ideol gos constan ; a

Q= .oga00 LEm
A His is e unit o R

Examples

(1) L33 mol of oxygen gas exerts .850 atm of pressure o T11.0°C.
Calcwlarte H‘A@o«o +he contairuar.
P = .85 adm PV=nRT
Vi= 2 (850 b V = (1.33ma1)(. 08300 s (A0ax)
n = [.33mgl : (-850 adm) V = 8.5040,3 % L -akm
R = .0%9400 =5 - 890 orkm . $50 ot
T = ~11.0TC + 4833 = ALAK

v = 40738 35 L

(@) 3365 mol of helium gas occwples_d. 00! of SPACL af o. pressure
of F00.0tocr. whot is the temperadure of He helium?

T

¢ 2 at =

A9 \"(-) = F00.0 torr F00.0er? l#to(r)n‘fgﬁ' Qa1 otm
V. = d.006L
n = .$35mo! PV =nRT .
R = .08a0L = (.81 atm)(@.006 L) = €. FHoBm)(.08A0U Totic ) |
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(3) What @nass)ot nitrous oxcde (Na0 ) is esntfained in a 80.0L batloor
at o pressure of 109otm and atemperoture of 20.0°¢ ?

157 solue PV=nRT for ncmoles). A" convert moles 4o mas> -

s
\' P = 1.09atm PVY=nRT o
V = g0.0L (1.09 atm)(20.0L) = n (08306 oy )( 33K
ni =z Lt 4l.f ot -t = N(22.337F3 L")
R = .08R00 7oric 2973718 Lo ——— oo U afm
. ! A9 FEFIY M
T = 90.0% +3%3 363K - ik
2 33184333a3mo! = N
e $2334mal = N
o0 ¥
& .33merNa0 [#40da - 3839 N0
| Imel
MM - NaO

AN x 14.019 = &8.0d g
[ O x i6.00g% 0009

44.023

(4) What is '”E@Cfp ozone (03) in a B.0oL fuxible containur at-
a pressure o) 400. kPa and o tempercture of, T40.0°C 7

conwert fo oftm conudrt fo K
P o= 200k goo.gfo]latm  -1.9%384(,533 atm
V |= 5.00C 101.335k0
Nni=7 i PV=nRT -
R =.08%300 motic (l.‘??38‘1‘(0533afm)C5~(00L) =n(.08610(o mol X, )(0733)()
T = ~4p.0°C+aF3=433K  11.05354059 akn X =n(19.11998 L&)
- Cobon — ¢ -odm
19.11998 2= 12.11998 e
HMM-03
3 0 *16.00=48.00q . 578 11400533 mo! n

nool

n

\/’/—\/ -5+ mol

Sl 03 |48.000 = 47.7449 —~
[ | mol




